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(a) ¥<—2 orx>2@

or |x|>2

(b)x=2,x=—2@

c) lim ¥ =1 (g;)
( X—300 ’xZ _ 4
lim oA
X—5—o0s x2 _ 4 @

y:l,y-_—.-—l

(d) Jvx'~-4 —-x[% (Jc2 —4)—1/2 Zx]
f(x)= 7
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(a)

(d)

©

(d

The domain of fis x> ——é—.

The range of f'is y20.

s 3
S V14 6x

The slope of the tangent line at x =4 is f'(4) = % .

S@)=5
The tangent line is y~5= —i:-(x—4)

Therefore the y-intercept isat y = 1531 y

The tangent line parallel to y = x+12 has slope 1.

oy = 3
S J1+6x

9=1+4+6x

=1

4
= |1+6]—|=3
Y (3)

The coordinates of the point are (-;i, 3).
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